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First exercise: (7 points)
I:ﬁgtg Answer Mark
Falling water: hydroelectric power plant;
Uranium 235: nuclear power plant;
1 ; _ _ 2.00
Fossil fuel: thermal power plant ;
Wind: wind power plant.
5 The pollutant plant is the thermal plant because it emits in the 1.00
atmosphere pollutant gases .
3 The nuclear power plant or wind power plant 0.50
Water and wind are renewable sources of energy;
4 : : 1.00
fossil fuel and uranium are non-renewable sources of energy.
5a | PE,= mgh=10"x10x100 = 10" J. 1.00
.| The electric energy furnished in one second:
OBl | e 1074 0.6 = 6x10° ] 0.5
5 bii t =1 day = 24x3600 s = 86400 s. 0.75
o The electric energy furnished in one day: E; = Ex t = 5184x10° ] '

Second exercise: (7 points)

Part of the Q Answer Mark
1 The types are B~ and B* 1.00
2.a o: ,He ; 0.75
electron : fe ;
positron : Je.
2.b a: positive ; p~: negative ; B*: positive. 0.75
3.a Alpha, beta, gamma 0.75
3.b May disturb the molecular structure 1
Or Risk of leading to cancer.
4.a. Soddy’s law : 1
uNa —» Mg+ Je
4.a.ii 2P Bsi + e 0.5
4aiii | BU > ZLTh +He 0.5
4.b I. p~decay 0.75
Ii. p* decay
li. o decay




Third exercise (6 points)

Part
of the Answer Mark
Q
1 | The Sun 0.50
2 | The astronomical unit is the unit of distance used to study the solar | 1.00
system. It is the average distance between Earth and Sun
3.a | gas: nitrogen , carbon dioxide and water vapor 0.75
3.b | The heliocentric theory : these planets revolve around the Sun. 0.50
4.a | Newton. 0.25
4.b | It depends on the masses of the objects (or the product of the masses) 0.50
that attract each other and the distance separating their centers of
gravity.
5.a | Terrestrial planets: Inner planets ( or Rocky planets) 0.50
Jovian planets : Outer planet
5.b.i | The inner planets have larger densities than those of the outer 1.00
planets .
The inner planets are closer to the Sun than the outer planets
5.b.ii | Pluto is smaller than the other outer planets 1.00

Pluto is solid ,while the other outer planets are gaseous .
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